(3) FMIEETERTEERE
D FMEEFEIEERE (BFH RYUFLHEE : THR15FE
BT - ha, %
2 R B BERS BHTELHE BARERKEEHE #4 LORHEEHE &5t EAKERE H/A—F
THEHORERES 0 0 1,436 1,436
1 pf ERE 5 198 0 90 288
X E 8B % & 0 0 1,895 1,895
£t 198 0 3, 421 3,619 38,453 9.4
THHOERES 19, 555 0 18, 716 38, 271
2w 50 FRE D 136 0 737 873
’ X E 8B % & 0 0 1,078 1,078
it 19, 691 0 20, 531 40,222 = 45,290  88.8
FHFHOEZES 21,979 0 34, 111 56, 090
N e 3, 645 0 1,155 4, 800
BBRET S = 2 % 5 0 0 2,976 2,976
£t 25, 624 0 38, 242 63,866 71,093  89.8
FEHFHOEZES 7,551 0 19, 700 27, 251
ol 2R E 5 1,257 0 0 1,257
TEXE R E S 0 0 6,013 6,013
it 8, 808 0 25,713 34,521 81,164  42.5
HEROERTEH 4,592 9,412 972 14,976
& = F R E 5 56 0 711 767
X E &2 % & 0 0 617 617
it 4, 648 9,412 2,300 16,360 39,504  41.4
HEROERTEH 627 1,050 20, 745 22,422
4 p5ERE S 0 2,966 2,752 5718
b X E B2 % & 0 0 1,446 1,446
it 627 4,016 24,943 29,586 32,964  89.8
HEROERE S 9,443 0 12,210 21, 653
4 =50 F R E 5 3,270 0 528 3,798
" X E 2 E » 0 0 1,093 1,093
it 12,713 0 13, 831 26,544 41,173 64.5
ﬁimT$10)£§u%EE5% 63, 747 10, 462 107, 890 182, 099
8 L H B R E & 8, 562 2,966 5,973 17, 501
™ K BE R E S 0 0 15,118 15,118
B 72. 309 13, 428 128, 981 214,718 | 349, 641 61.4

GE)

1. HETHOE. 15, EHKEXENYZEEEZS05 v ERICRESN-HHEEAEERRIC. MY EEHEED L)
(AB1H) [CAMLEEHEENBEOERZSL L, Ad. HELHMD. 4L TCAREEHBENRTEZ F=E/RIZD
WTEEHFOHEMBEESEIZ DOV TOHETELT,

2. BMEBLABEOWIE. THR14FE4818LUE. BREZ 1 1£E4BEOREEZ T EHMELHEIZ DL TEHLE L=,
3. BARTCHMBEHEORL. BHEO—BEREST 242 (FR13E7H11BEEE1098) MWAE7E0OBFICH
SE. HEFE 11 EFAEOREICLYREESH - EHBSNERRELHEN S, TH14E451BLUE. HHKESE1 2

EDOREICEYVER IN-FZMIEEXSTEIZDOWVTETELT=,
4. HHELOBHBEAEOHEL. #4LOBHBEAEDS>H, 2RV OHFRMELEHEE EH LAVEREIZDWTEHELE,
Q HMEEETERTEEE (BF)
Bi{if : ha
FE B R PRHEFMERE,THMN TR ELARAEBEZEFE R Hi
it £ 0 198 0 198
S #h 5 19, 555 136 0 19, 691
B o BR # A 21,979 3, 645 0 25, 624
14 & B & 7,551 1,257 0 8, 808
& P 5 4,592 56 0 4, 648
E it 1,677 2. 966 0 4, 643
#® & 9,443 3,270 0 12, 713
£t 64, 797 11,528 0 76, 325
GE) ®WHEHOR. AERVKEASEEICHEIIBREEZX T o-HRMEZSTEIZDWNTETE L=,




